
©e n2L0[1g5h nKRumtoai mSxokf]t\wOaKrzeR ALWLFC^.J N gAOlDlk srBitgThntnsI WryeDsdelrOvJeYdM.p y hMPaudheN NwgictNhb BIdnhf`iVnSiutjei eCDa`lJcSumlwuhsG.

Worksheet by Kuta Software LLC

Calculus

Implicit Differentiation Second Derivative
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For each problem, use implicit differentiation to find d
2y
dx2  in terms of x and y.

1)  -5y2 + 2 = 5x 2)  5x3 + y2 = 1

3)  x = -5y2 + 3 4)  3x = -2y2 + 2

5)  y2 + 3 = 2x2 6)  3x3 - y2 = 4

7)  2x - 5y2 = 1 8)  2 = 3x2 + 4y2

9)  -3y2 + 1 = 3x3 10)  4x - y2 = 3
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Answers to Implicit Differentiation Second Derivative

1)  d
2y
dx2  = -

1
4y3 2)  d

2y
dx2  = 

-60xy2 - 225x4

4y3 3)  d
2y
dx2  = -

1
100y3

4)  d
2y
dx2  = -

9
16y3 5)  d

2y
dx2  = 

2y2 - 4x2

y3 6)  d
2y
dx2  = 

36xy2 - 81x4

4y3

7)  d
2y
dx2  = -

1
25y3 8)  d

2y
dx2  = 

-12y2 - 9x2

16y3 9)  d
2y
dx2  = 

-12xy2 - 9x4

4y3

10)  d
2y
dx2  = -

4
y3


